Different spinners

This task is about the chance of something happening.
certain  likely unlikely impossible

For the following questions select the best word to finish each sentence.
You can use a word more than once.

=

a) If you spin the arrow itis certain/ likely| unlikely| impossible that it will land on the shaded colour.

=

b) If you spin the arrow itis certain/ likely| unlikely] impossible that it will land on the shaded colour.

=

c) If you spin the arrow itis certain/ likely| unlikely] impossible that it will land on the shaded colour.

&

d) If you spin the arrow itis certain/ likely| unlikely| impossible that it will land on the shaded colour.



e) If you spin the arrow itis certain/ likely| unlikely| impossible that it will land on the shaded colour.
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